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No 1

B4 2 R TER PR E B GESME RS Ti®iiak—E R (FEET) e TR LGS
A VNG IUN P
SM3ES5H29H () 30A(H) Keza— R 21 12 3301
G T B A e B s ik dr 2 — K 122010
GEE) & H a 201 30 Ahr 50 61 (oA 81
14£100m R O 1.9 | wp BEA ) 1652 | AA KA (1) 1558 | ®BF BE ) 16.74 | L #E (D 16.12 | BA BEFA (D 16.39 | AHE A (1) 17.40
148 LAk (-0.1) LAk (-0. 1) LAk (0. 1) INE (-0.1) [ M#EZl (0. 1) INEE -0.1) | Sfrpn (-0. 1)
14£100m & TR (D 14.18 | BE &8 (1) 14.43 | &2 HESR () 1477 | W& R () 14.85 | R ik (D 15.03 | /MR £ (1) 16.10 [EE 2N (1) 16.49 | BEH —E (1) 16.73
2 =H (+1.4) AR L1 i (+1.4) 1TH (+1.4) INER (+1.4) AR (+1.4) A (+1.4) AR (+1.4) THE (+1.4)
14£100m AR AN (D 12.69 | ARE KB (1) 14.88 | M mE () 16.07 | BE MR (D 16.38 | BEOGME () 16.21 | BE O FEHE (1) 16.35 | FefE BMe (D 16.38 [ =K EEE (1) 16.67
31 A LI (+2.3) | HiE¥— (+2.3) AL (+2. 3) A (+2.3) THZ (+2.3) =l (+2.3) | HEH= (+2.3) | HE#H— (+2.3)
14£100m wEA KA () 13.92 | ke ¥ Q) 14.38 | TI#E FHHE (1) 14.51 | BEH £} (1) 14.68 [ =3 | (1) 14.78 | Y &4 (1) 15.56 | JIJE Z9s (1) 16.06 | = & (1)
4 %A Repro ot (+0. 4) A (+0. 4) | BRI (+0.4) | EHEENY (+0.4) B (+0. 4) EH +0.4) | R H (+0. 4) S (+0. 4)
14£100m +H B ) 13.09 | AR () 13.39 | EEE F 0 () 13.68 | A A (1) 14.11 | ARES FTE (D) 14.13 | HA BME () 14.26 | B E (1) 14.30 | FFEE BT (1D 15.56
5 I (-0.2) A (-0.2) et (-0.2) | EHEENY (-0.2) ki (=0.2) | HFRAH (-0.2) | Hkw— (-0.2) | HEHL (-0.2)
14£100m ER & ) 13,70 | AR A () 13,74 | B BE () 14.26 | A OBBA (D 14.36 | HE WS (D) 14.59 | g BEME (1) 14.96 | [t &SF (D 16017 [ fE{E dEIk (1) 16.33
6 #H AR R (+1.3) g (+1.3) | HFRARHHR (+1.3) =R (+1.3) MR (+1.3) b (+1.3) | HEHH (+1.3) & (+1.3)
14£100m Ml B4 (1) 14.44 | K% R0 () 14.61 |FEHE EERAE (1) 14.79 | #JE ¥ (1D 15.23 [ (@ f2H (1) 165.57 | & %A () 16.27 | A &} (1) 16.41
7 %A REg L g (-0.3) BT (-0.3) | Hkw#— (-0.3) | &k (-0.3) | SRR — (-0.3) BT (-0.3) | ko HR— (-0. 3)
14£100m ik KE 1) 14.74 |ES &2 (1) 15.00 | ¥E0 #3F (1) 15.01 | FHE BW (1) 16,15 | A3 KE (1) 16.01
8 N | (-1.5) HAR (-1.5) ARG B (-1.5) 8 (-L.5) | mEaEm (-1.5)
20 14£100m I Zhe (1) 13.65 | {EA  XFn (1) 13.78 |v=w— z=vozx (1) 14.01 | v BEeR (1) 14.10 (&7 BEKED (1) 14,12 | BAF = (1) 14.51 | #5H &N (1) 14.56 | #5H @k (1) 14.90
9 #H BA (-0.4) | Skt (-0.4) | HiE¥ T (-0.4) | HEwH— (-0.4) | M=l (0. 4) THE (-0.4) | HE®A (-0. 4) FESE (-0. 4)
14£100m TR B (1) 13.59 |[EWI #2 (1) 13.83 | dAH: EH (1) 14.09 | B FE (D 14.10 [ & #EKXK 1) 14.12 |[&F FBzH 1) 14.44 | AH K— (1) 16.05
1 0K HER— (+0.9) BEFE (+0.9) AR (+0.9) | &N (+0.9) | fniEER (+0.9) | JUKBH (+0.9) B ¥ (+0.9)
14£100m A8 B (D) 13.87 | /AR ER (1) 14.29 | EH O OK— (1) 14.37 | &I Bik (D 14.62 | RE EEE () 14.73 | HE O miE Q) 14.74
1148 HEHN (0.0) BEH: 0.0) IR (0. 0) EH (0.0) KK (0.0) MR A A 0.0)
14£100m AN 2EZ2 (1) 12.91 | FnlE MESF (1D 13.54 | = OBHEF (1) 13.65 | #h mER () 13.74 [ B0 BA Q) 13.97 | PMEE OB ) 14.03 | A #&ER () 14.38 | HEE B (1) 14,42
1 248 —~H 1D | Skt (-1.1) 1T H (-1.1) L (-1.1 i)l (1D | mEREL L1 | HEHE 1.1 | Sk (-1.1)
14£100m %iE BRA (1) 13.62 | U RBEE (1) 13.69 |fEak Ko (1) 14.18 [AHEE K (1) 14.29 | =% Mk (1) 14.39 | Mt K— (1) 14.72
1 348 PN (-1.6) | HiE¥— (-1.6) BT (-1.6) P (-1.6) 1TH (-1.6) KK (-1.6)
14£100m gem £ (O 13.37 [ AME —K (D 13.47 [HA O ELKRES (1) 13.61 | 4B FRBAE () 13.62 | Ki#E 2 (1) 13.80 [#&H k® (1) 13.98 | Zuh R (1) 14.37 | ¥ ks (1 17.30
1 448 BER= (-0.8) | R %L (-0.8) T fifi (-0.8) Wb (-0.8) T fiff (-0.8) b i (-0.8) T fiff (-0.8) | SErHmn—= (-0.8)
14£100m JIE HEsE (1) 13.28 FH &m0 () 13,41 |FfolE BOREE (1) 13.48 | fE0 28 (1) 13.72 [ (@ I () 13.77 | &+ R®AE () 13.94 | A &K (1) 14.44 | & EB 1) 14.44
1 540 e m = (+0.2) | EEER (+0.2) | NAABR (+0.2) | HEHEH (+0.2) i (+0.2) i (+0.2) i (+0.2) | HEHEH (+0.2)
14£100m MoMEE () 12.78 | Rk Bk (D 12.87 | EM OfE (1) 12.97 [/ ALK (D) 13.09 | B wAE (D) 13.33 | by B A (D 13.46 | =ML frak (D) 14012
1 640 mi)Ios (+0. 3) )17 (+0.3) R (+0. 3) i)l (+0.3) | SEr R (+0.3) i)l (+0.3) B (+0.3)
14£100m A Ed (D 14.73 | R &4 Q) 15.23 | B3} (1) 15.93
1 74 ERE (-1.5) EiRE (-1.5) ERE (-1.5)
24£100m i ok (2 15.35 | MW X (2) 15.51 | fEE YRR (2) 15.76 | M EAK (2) 15.84 | A f&KE (2) 15.99 | (UA FuE (2) 16.85 | /= AEF (2) 18.36
1 4A i3 JIEL (-2.5) | mEZil (-2.5) HoOH (-2.5) | HE¥—= (-2.5) AR R (-2.5) | fi@EZ L (-2.5) L H (-2.5)
24£100m R = Q) 14017 | BRI Ei () 14.44 | FFE EFZE (2) 14.49 | m¥E JbiT (@) 14.52 |FETH OB (2) 15.09 LR MEEAE (2) 15.09 | Bk EFAK (2) 15.44
20 HEE T (-0.3) 1L H (-0.3) KR (-0.3) | HEE¥— (-0.3) T (-0.3) R LI (-0.3) | Skrpd (-0.3)
24£100m PIE BRE (2 13,13 | A F=3F () 14.18 | BEIE K (2) 14.19 | 2E AKX (2) 14.42 | 4 gl (2) 14.68 |ZEEE BEKES (2) 14.80 | fifH —#& (2) 15.78
3 fH KK (-1.0) iR (-1.0) R (-1.0) —~H (-1.0) | NARR (-1.0) iR (-1.0) AR R (-1.0)
24£100m JIot KiE (2) 13.70 (&)1 #HzBh (2) 14.01 [ [ho HER (2) 14.28 | #%EE K (2 14.42 |HAK oL (2) 14.46 [ KRS (2) 14.59 [ I KA (@) O (@)
4 %A R AR 1L i HEHR= [ e HERE THE S Ay %
24£100m AR OEH (2) 13.60 | BBH Hirh () 13.69 | =/ ¥ () 13.77 | WY OBBER (2 13.95 | (Il BERE (2) 14.53 | B Be (2 14.70 | mZ2 A (2) 15.09 | FBA Kt (2) 15.30
5 i BB — (-2.4) 1TH (-2.4) A (-2.4) 1T H (-2.4) il (-2.4) EA (-2.4) A (-2.4) i)ils (2.4
24£100m R B (2) 13.54 | fERE mHE (2) 13.70 [ RA HBA (2 13.96 | ElM PEEK (2) 14.08 | K KEE (2) 14.20 | =9 OE () 14.43
68 ERE (-3.4) | $krun— (-3.4) | HEEFY (-3.4) ARG (-3.4) BT (-3.4) % (-3.4)
24£100m EiE B (2 13.37 | WA K| () 13.50 | Al KRE (@) 13.51 [ fEx kK B (2 13.79 [ MrE A& (2 13.99 | @A EE (2) 14.23 |6 K& M (2) 14.23 | FAE HvE Q) 14.28
74 INE (-1.9) | HE¥— (-1.9) HAk (1.9 | JAnn (-1.9) i (-1.9) =l (-1.9) | HEH— (-1.9) | gl (-1.9
24£100m BH OB (2 12.66 | &I I (2 12.73 | B R () 12.89 | AT IKE (2) 13.07 |EW)I O BEIK (2) 13.41 | HE &z () 13.72 | M RLEF (2 14.14
99 8 Al HEHRL (-1.8) | HEWHB— (-1.8) =H (-1.8) U (-1.8) | &L (-1.8) S (-1.8) A (-1.8)
24£100m JI w2 13.00 | BEM FFE (2 13.23 | A5H K () 13.66 | BE)II fEk (2 13.73 | BA M (@ 13.77 | W ORIk (@ 13.88 | =Lk F  (2) 13.97 | Wl WA (2) 13.99
9 ¥ (-2.7) HFR T (2.7 | HEHL (-2.7) | HEW®LE (-2.7) AR T (-2.7) THE (-2.7) B v (-2.7) il (-2.7)
24£100m S ORER (2) 12.84 | EHIE O OEEER (2) 12.87 | Kk sf= (@) 13.03 |[HEE (LA (2) 13.06 | S FRE (2 13.17 | BE W (@) 13.23 | i RE (2) 13.29 | REE RE () 13.71
1 0#H N BB HER L BAR ki [ A R e b i
24£100m EHE EC (2) 12.79 |/MEFE oK (2) 12.88 | KJII =& (2) 13.05 | B @Ik (2 13.08 | HH &k (2) 13.25 | By ERC (2 13.32 [ MR —fE (2 13.62 | HE Bk (2) 13.76
1 148 AN TEEARA (-3.7) LAk (3.7 RBAE (-3.7) /N (-3.7) = (-3.7) | HEHE (-3.7) | HE¥HAH (=3.7) i)l (3.7
24£100m B (2 12.71 | Bl IRE (2) 12.97 | BJII ERE (@) 13.03 | @ #@rF (2) 13.10 | (Ll R (2) 13.36 | B OKE (2 13.37 | W FHys (2)  13.47
1 248 HA (-3.1) =M (=3. 1) | HIFKHAAR (3.1 | $run= (-3.1) 1TH (-3.1) TH&E (-3.1) Pt (3.1
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No 2

# 4 2 B TR PR R R iE RS TG —HER (T¥ET) T TR LG
A VNG IUN P
SM3ES5H29H () 30A(H) Keza— R 21 12 3301
G T B A e B s ik dr 2 — K 122010
B fEH 0L 2051 RIDVA AT 547 63 ThE 8.
24F100m F4 hzevE (2) 12.98 A & (2 13.20 | tHF ZE (2 13.29 | /hNEF R (2) 13.35 | @R Fjde (2) 13.43 | LA & (2) 13.54
1 34K e (-3.1) oy (3.1 &5 (-3.1) | $krHr-= (-3.1) JRIT (-3.1) = (-3.1)
24F100m B EERE (2) 12.34 | N\E ¥ (2 12.58 | R ¥k (2) 12.59 [AMRHE &K (2) 12.73 | B R (2 12.81 | & B3} (2 13.09 | ik [EE (2) 13.18 | #EEF LB (2) 13.20
1 4% ST (-1.3) &% (-1.3) | izl (-1.3) BEFE L3 | Skrpn= (-1.3) I (-1.3) % (-1.3) Eik (-1.3)
24£100m FFl FE (2) 12.36 | A WS (2) 12.51 |2 fEEE (RES () 12.51 [ RABR A% (2 12.71 | @ Bk () 12.73 | FHE OZE (2) 12.77 | AE & (2 12.88 | /MR B (2) 13.03
1 54H Al (-1.5) HAR (-1.5) | $frn— (-1.5) | BHKAF (-1.5) iR (-1.5) | WilERIHL (-1.5) % (-1.5) )11 (-1.5)
24£100m /N e (2) 11.96 | AN Sk (@) 12.20 | bm ZE () 12.26 | KEFE OEKE (2 12.34 [+3XF BA () 12.52 |6 kR e Q) 12.52 | AR =R () 12.55 | Kt Ok (2) 13.45
1 640 Repro ot (-1.6) | B KAF (-1.6) | HEHAE (-1.6) | MERHEZE (-1.6) | S (-1.6) | Sfrph (-1.6) ii)11Pg (-1.6) | HE#H— (-1.6)
34£100m hEE O KFE ) 13.05 | AR =R (3) 13.63 [JUFHE A (3) 13.83 | A KK (3) 13.87 | &K WHIR (3) 14.00 | EHEH EE () 14.37 | A EBEHk Q) 14.41 | LHE #E B) 14.61
14 RS (-3.1) | Hkw— (=3. 1) | Mg RIA% (=3.1) AR E (3.1 SliiaE) (3.1 £k (=3.1) | fksZil (-3.1 AR LI (-3.1)
34£100m WA A (3) 12.98 | &M A (B 12.99 | BE F () 13.48 | MM FiE (3) 13.69 |[f&M EIKER (3) 13.74 | JOdE  sEAR (3)  13.90
2 4l LAk (-3.1) | HEH— (-3.1) N (-3.1) LAk (-3.1) 1TH (-3.1) i)l (-3.1)
34£100m e kP 3 12.97 | &k fmdE (3) 13.20 | mH BAEE (3) 13.23 | A A (3) 13.28 | FpE Eth (3) 13.37 | WA EE B) 13.44
34 YR (=3.0) | I\KBA (-3.0) -y (-3.0) INES (-3.0) BEF: (-3.0) PEFH: (-3.0)
34£100m Mo B2 () 12.85 | (uA FayR (3) 13.32 | T FHEH (B) 13.45 | B2 A (3) 13.45 | fEE sk (3) 13.47 | /ME I (3) 13.56 | B4y JEBE (3) 13.60 | 4K ¥EA (3) 13.88
4 # ARG 2 (=3.0) LAk (-3.0) | HEH= (=3.0) AR (-3.0) 1TH (=3.0) v (-3.0) | fkEZl (-3.0) | HEHA (=3.0)
34£100m U FER (3) 12.47 | Wil Bk (3) 12.88 | HE  EiEE (3) 13.09 B 2 (3 13.14 | /My PA ) 13.14 | B BA (3) 13.28 [ fh EHF (3) 13.42
5 i BER— (-2.9) A (-2.9) BT (-2.9) | J\RBR (-2.9) KR (-2.9) FHIE (-2.9) il (-2.9)
34£100m PIHE R/E (3) 12.31 | i BHEE (3) 13.06 | MiA =F 3) 13.11 | AKEH BA B) 13.18 | #E wmE ) 13.31 | fFE ALK (3) 13.50 | S HFH (3) 13.55 | MEA EHHL (B) 13.82
6 #i H 5 Y (3.7 | ko (3.7 | Skrn— (-3.7) BAR (=3.7) T (-3.7) | #iE¥—= (=3.7) | MisEER (-3.7) FHIE (=3.7)
3-100m Bk & Q) 12.87 | Wl FIK () 12.94 | ®F B— () 12.97 | Bk EFEI G) 18.11 | = O IEFE (3) 13.22 [ IUF #a (3) 13.25 | E O fER (3) 13.52
7 SR (-3.0) | kot (-3.0) e (-3.0) P (-3.0) HoH (-3.0) [ (-3.0) | HE®S (-3.0)
99 34£100m SR A (3) 12.91 | AR B () 13.20 | =k BEK (B 13.35 | fER fLie (3) 13.76 [ FEKE (3) 13.86
8 fH. (B (-3.4) EH (-3.4) &S (-3.4) il (-3.4) | HEHE (-3.4)
34£100m BT f1 (B 12.67 | B BAK (3 12.70 | BgE wE (3 13.00 [ fF O AHA ) 13,12 | N B O(B) 13.19 | W Kfn (3) 13.55
9 fH. AR IR (-3.5) BESE (-3.5) T (-3.5) | HEHE (-3.5) il = (-3.5) LS (-3.5)
34£100m Aouh F&wE (3) 12.30 | AEF O FIER (3) 12.59 | MUAKE (3) 12.68 | Ht fdAk (3) 12.72 | A (= (B) 12.84 | AHFJ)II %% (B) 13.16
1 041 At A AR (=3.9) | B KHFL (-3.9) b gl (-3.9) H O (=3.9) | BRI (-3.9) i A (-3.9)
34100m E KE (3 12.48 | THE EEzg (3) 12.60 | =B MR (3) 12.67 |[g#K EZA (3) 12.75 | EE BEET (3) 12.81 | @l E O O(B) 12.86 | &M M (3 13.11 | EFE O (3)  13.22
1 148 Sy (-3.0) HoH (=3.0) | HEEFY (-3.0) | EHEENY (=3.0) S w (-3.0) i (-3.0) | HEHAS (-3.0) | HEHtE (=3.0)
34100m NBR O MERE (3) 1216 | AR MEBE (3) 12.27 | AH KA () 12.47 [ HIH HE B) 12.48 | Ei# WS () 12.60 | H# {HE () 12.61 WA B (3 12.79 | ¥ e (3) 12.85
1 248 T fifi (2.7 A (-2.7) T fifi (=2.7) AR 2.7 | SErnh (-2.7) e llED (=2.7) W% (-2.7) il (=2.7)
34£100m AR iRk ) 12.03 | Mk wmEEE (3)  12.19 | AEAT BEA (3) 12.21 | WEH s ) 12.24 | F mT ) 12.28 | BA B} (3) 12.33 | BIB A (3) 12.45 | MugE Bt Q)
1 3% (2N (-2.2) b (-2.2) | H&kg_— (-2.2) B (-2.2) | HEkH_— (-2.2) | Mk (-2.2) A (-2.2) il DNS (-2. 2)
34£100m HERE ok (3) 11.81 | &% JHBE (3) 12.07 | JIMA T (3) 12.08 [ &K A (3) 12.10 | &/F FIr (3) 12.20 | piH #E} (3) 12.37 [ bR EE 3) 12.74 | WHEE EX )
1 448 = (-3.0) G (-3.0) | SErR—= (-3.0) | $krpn— (-3.0) = A (-3.0) | HEHL (=3.0) A g (-3.0) Hil= DNS (-3. 0)
34E100m b AR () 12.29 | ERE &AHR (3) 13.29
1 548 GRNLE (=2.2) | HEREZE (-2.2)
H:3/200m Bl BEK () 27.16 | AR B (2) 28 11 | AR MR (2 30.60 [ AR A (1) 33.60 | AR5 fFk () 34.21 | BB AL (1) 34.82 |EAFH 5B (1) 37.87
1 4A S m— (-0.9) | EEENY (=0.9) AR L1 (=0.9) KK (-0.9) | mEEm (-0.9) THE (0.9 | $run— (-0.9)
438 200m FH &% (2 26.01 | 0% 3l (3) 27.05 | #EEE FBRAK (2 27.99 | KB #A @) 28.40 | Rk 1 (D 29.17 | A% ¥ (3) 29.64
2 i /NEE (+2.6) £ (+2.6) | HiE#p— (+2.6) AR LI (+2.6) R (+2.6) AR (+2.6)
4138 200m EX/ A (B 26.00 | BJF A (3) 26.10 | BAE FAK (2) 27.35 | FHAL EAN () 27.47 | #yT FE (@) 28.34 | Al gl (3) 29.17
3 fH NG 2 1 (+2.2) S (+2.2) /N (+2.2) INER (+2.2) FRE (+2.2) Hi)Is (+2.2)
H:3/200m KA AE (2) 24.93 | /& K (B) 26.32 | & #HE (2 26.66 | A& FE (2 27.12 | mHH Hith (3) 27.21 | MW M&A (2 27.47 | #8) &E9R (2) 28.62 | F& B} (1) 29.27
4 %A HOR AR (+1. 1) B (+1. 1 A (+1. 1) AR LI (+1. 1 HIlJE (+1. 1 b (+1. 1 THE (+1. 1 AT (+1. 1)
4E3/200m EF v (3 25.58 | EEF [H— (2) 26.05 | LA & 2@ 26.11 | X 2B& (2 26.13 | fulh BEE (B) 26.16 | @k A&k (3) 26.18 | K& Mk (3 26.36 | fEEE 2z (2) 27.29
50 =l (-0.9) KK (-0.9) L H (-0.9) i (-0.9) ki (-0.9) T fifi (-0.9) KK (-0.9) | Sk (-0.9)
F£3/200m /NI BEE (2) 24.30 | TH A (3) 25.89 | AT BEK (3) 26.06 | BAO s (3) 26.23 [ ¥ OK&E (2 26.75 | W KA () 26.81 |ERJ)I fE (2) 26.88 | HE CHyE (3) 27.32
6H. HEEFIY (-1.1) | HE¥— (-1.1) R E (-1.1) LAk (-1.1) THE LD | $firn= (-1.1) I\ (-1.1) LAk (-1.1)
30 4138 200m N S (2) 24.61 | e Zndk () 24.75 | mYB O MEHE (3) 25.08 | fRiE EEAE (3) 25.54 | FEF O HRHEL (3) 25.76 | HA OHPE () 26.75 | il AEFE (3) 26.91 | BRI OBE (3) 27.05
7 fH HOR IR (+1.6) T fif (+1.6) | HEEFY (+1.6) L H (+1.6) Y (+1.6) kA (+1.6) il (+1.6) ESI (+1.6)
H38200m WA kg () 24.88 | B ZKk (3) 25.37 | BRI R (2) 25.39 | PO EE (3) 25.74 | A0gE JCHE (3) 25.93 | &AM (3) 27.19
8 HOR AR (+1. 1) BESE (+1. 1 AR (+1. 1) A IE (+1. 1 % (+1. 1D | #HEBR (+1. 1
4:36H200m A SR (B) 24.03 | 1£E AP (3) 24.60 | A K (B) 25.40 | = BEK (3) 25.59 |sAHE BEZA (B) 25.71 | Emkn B (3) 25.97 | By Ewc (@) 26.22 | HEE OKRE (2 27.51
9 R g (+1.6) S (+1.6) HoOM (+1.6) (e (+1.6) i)l (+1.6) | NAABH (+1.6) | HE¥HAH (+1.6) | HEHL (+1.6)
4L3/H200m WA BBA (3 24.07 | i K& (3) 24.18 [#E HUKEA (3) 24.33 | BiE B (3) 24.34 | BT H (3 24.44 | miE #5E (3) 24.51 | B kA (2) 24.55 | [u=E  FRE (3) 24.97
1 04K BER (-0.4) | Sfkram (-0.4) Tb g (-0.4) | J\URBH (0. 4) A A (-0.4) | J\RBH (-0.4) | $frath (-0. 4) i) I\ (-0.4)

ZHE vy fBIR ERE 2L #$BK g2
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No 3

B4 2 R TER PR E B GESME RS Ti®iiak—E R (FEET) e TR LGS
A VNG IUN P
SM3ES5H29H () 30A(H) Keza— R 21 12 3301
G T B A e B s ik dr 2 — K 122010
A Fi B LA 201 30 AL 50 6L 0T 8HL
135 200m FHE EIRES (3) 23.97 | Wl HE (3) 24.08 | L KREE (3) 24.35 o 25 (2) 24.70 | AR &R (3) 25.17 | FHE OMEFE (3) 25.27
1140 iy (+0.2) B (+0. 2) i)\ (+0.2) | HEmE (+0.2) i)l (+0.2) A (+0.2)
JL3/H200m S BEZE (3) 24.73 | il #E3F (3) 24.76 | hH K ) 25.13 | & wHE (3) 25.98
1 24 milAS (+0.9) | HiEwt (+0.9) | HEBN (+0.9) | HiEBN (+0.9)
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HoOER (2 EH &<5 © N BT (2) MOEER (3 R HiE (3) M E (3)
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A EE Q) B 22 ) AE HE Q) BA X (3) wmEE 35 3) wHOER Q)
JE34X100mR S A0 52.32 | WP 53. 08 | HUERKHTHL 53. 08 Lk 53. 22 RN 53.30 [ H&mps 54. 08 HoOH 54.98 | #rmn= 56. 43
5% TR OEE O A8 FHHA Q) g wWEE (2 ESE S 1M/ E)) A EE B A Aed (2) HH ke ) IR BE (3)
HE v (3) Fasd L (3) W BXT (2 EE T © g BEEUN (2) R FHE (3) FHHE BET 3) Wil Dk (2
i = () HEA FE4A Q) v %e3E (3) e amEl (2) (== E- A ) HHE OERSE Q) Ml LE G i PhE (D
WE HEE (@) HIK EIFE Q) T ) (3) BA Zoh 3 RO @O dH O EE Q) i s G)) =K ®Jh Q)
H:m4X100mR ERaaILEN 49. 97 AR 50.56 | I\ AMBH 51. 11 BIhT 51,40 | HEBHL 51.87 | MG 52. 21 H Il 52. 65 A H 53. 54
6 #H TN fE (3) i EH Q) HHE OER (@) [ 7/ R ) £ b\ Q) A B 3 i &<5 (3) &) OBF (3)
g i (3) A H= (2) gk BE ) g 00 (3) BT 2% @ 2H wY @ K% 025 (3) M B )
i EE Q) KW ZFZE Q) A & 3 e A ) il mE @ am|oxse Q) Rt I (3 o #RE (1)
®F= (2 i X G e K HE (2) KEF D97 (3) o AR G AH 1357 () i mefd (3) a BE ()
HamEEEmBE |9 WA BE (2 1m35 |9 KN MM (3)  1m35 |11 HiE# Zev (3)  1m30 |11 L EF (3)  1m30 |11 HiEr EHEL (3)  1m30 |11 /ME I (3)  1m30 |11 dulr E#E (3)  1m30 |11 ZE#E £ (3)  1m30
PEIE i KR JRIT B n— JURBR HEEN AR N
17 ¥4k A& 3 1m30 |18 #ifizx (2) 1m30 |19 &K 7 (3) 1m30 |19 %@ B (3) 1m30 (21 EA i (3) 1m25 (21 kM 3 (2) 1m25 |21 Ak #HE (2)  1m25 |21 HH %45 (2)  1m25
30 BT BB HEHBE HERE AIlJE S R b A 2=
25 A4 FEJy (3)  1m25 |25 6EE @mign (3)  1m25 |27 MEE fEaE (3)  Im25 |28 &M HE (1) Im25 |20 AAYI AEEE (3)  Im20 |29 FAEE  fEER (3) 1m20 |29 AOEE EAAK (3)  1m20 |29 /NI @ (3)  Im20
=H Ak HHIE PV AIlJE BB R BB
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KK R HER— HEE—
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BB (+1.2) JEIT (-0.3) AR (+1.2) B Vi (+1.9) FAR S (+2.4) | ST (+0. 5) =H (-0.9) | HEEFY (+2.5)
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30 A ek Im15 266 1m25 359 1m20 312
AL (2. 721kg) 7m02 336 5m22 222 6m40 297
200m 32. 26 0.7 336 31.93 0.7 356 30. 73 0.7 432




